BEE - RESRRVRIEHY

EEXE
SHNREE SH2EE SHIERE
2 2#F %%
VER|2FE R SER|AFER| G5 | BER(1ER|2FR|SER|4FER| At | B2V ER|2FER|3FER|4ER| A5t | B
ZAR—YHEEFR 1 11 3| 13| 28| 34% 5 6 6 8| 25| 3.0% 4] 10 1 5| 20| 2.4%
HiE
ZAR—Y BERILEER 1 1 0 1 3| 2.1% 2 2 1 4 9| 6.2% 1 2 1 2 6| 4.1%
28
it 2 12 3| 14 31| 3.2% 7 8 7 12 34| 35% 5 12 2 7| 26| 2.6%
BEEHR 10 5 3 5 23| 4.3% 1 4 2 4] 11| 2.0% 4 2 3 3 12 2.1%
2SR 1 1 3.5% 1.9% .09
wEE =R 0 3 5 1 0 0 2 3 0 1 2 2 5[ 3.0%
28 N N
DAY ) TR 0 2 1 4 7| 3.8% 1 2 2 2 7| 3.3% 1 5 2 3| 11f 5.0%
it 11 8 4 12| 35| 41% 3 6 4 8| 21| 23% 5 8 7 8| 28| 29%
R 13| 20 7| 26| 66| 36% 10| 14| 11| 20| 55| 29% 10| 20 9 15 54| 28%
KR FEKRFERR
SNTEE SH2FE SHEFEE
e R &%
1ER(2FER| BET | BER1ER| 2R | &5 | BEE(1FER|26R| G5t |B¥E
ARIRALFEER(M) 0 0 0| 0% 0 0 0| 0% 0 1 1]33.3%
= [
*E’;?;fﬁ% EpnEzEwM | ol o] o o o o ol os] of of o o%
HJ 0 0 0| 0% 0 0 0| 0% 0 1 1| 9.1%
. HEFEFERM) 0 0 0l 0% 0% 12.5%
g FEEEL( 0 0 0 0 2 2
HRH .
Hi 0 0 0| 0% 0 0 0| 0% 0 2 2(12.5%
EEAR—YEERM)| 0 0 0| 0% 0 0 0| 0% 0 1 1| 6.7%
4IE
AR—YZE | £EAR—YEER(D) - - - - - - - - 0 0 0| O%|R3FZE
R H
Ha 0 0 ol o% 0 0 0| 0% 0 1 1| 5.6%
pN=a 0 0 0| 0% 0 0 0| 0% 0 4 4| 8.9%
IR FREPAKRES
SMREE SH2EE SHBEE
2 2#F %%
1ER(28ER| G5 |BEENER|2ER| &5 | B¥E1ER|2ER| &5 |B%%
SATTHAUEHR 1 3 4| 8.9% 2 1 3| 5.8% 0 1 1] 2.1%
EEREE
ZELER 2 7 9| 3.9% 2 0 2| 1.0% 2 1 3| 1.4%

EHIREERE 3| 10| 13| 47% 4 1 5 2.1% 2 2 4] 1.5%




	R1-R3

